
 

   
             
 

1) 660 ÷ 110 =  6 
2) 40 x 200 =  8 000 
3) 90 lots of 60 = 5 400 
4) 200 multiplied by 70 = 14 000 
5) 560 ÷ 7 =  80 
6) 700 x 6 = 4 200 
7) 240 divided into 30 = 8 
8) Share 490 between 7 = 70 
9) 80 groups of 40 = 3 200 
10) 6400 ÷ 8 =  800 
11) 12 x 12 x 10 =  1 440 
12) How many 5p coins make up 45p? 9 
13) Tom reads 3 books.  Amy reads 7 times as 

many books as Tom.  How many books does 
Amy read? 21 

14) A magazine costs 80p.  How much do 4 
magazines cost? £3.20 or 320p 

15) One quarter of a number is 30.  What is the 
number? 120 

16) What is the product of 3 and 60? 180 
17) 90 x 20 = 1 800 
18) Share 120 equally by 6 = 20 
19) 800 x 6 = 4 800 
20) 70 multiplied by 9 = 630 
21) Divide 550 by 11 = 50 
22) 120 ÷ 3 =  40 
23) 720 divided by 9 = 80 
24) On a farm there are 30 times as many sheep 

as horses.  There are 8 horses.  How many 
sheep are there? 240 

25) Is 210 divisible by 10? Yes 
26) 2 girls and 3 boys went swimming.  It cost £4 

for everyone.  How much did it cost each child? 
£0.80 or 80p 

27) 3.4 ÷ 2 =1.7 
28) If 10a = 150.  What does a = 15 
29) If 2 bananas cost 22p.  How much do 6 

bananas cost?  66p or £0.66 
30) How many times larger than 9 is 360? 40 
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